




Eight people A, B, C, D, E, F, G and H are sitting around a 
circular table and all of them are facing towards the 
centre. E is not the neighbour of A. G is third to the right 
of A. B is neither the neighbour of G nor A. C neither sits 
opposite to G nor is the neighbour of G and A. D is the 
neighbour of F and third to the left of B.
आठ व्यक्ति A, B, C, D, E, F, G और H एक वृत्ताकार मेज के चार ों
ओर बैठे हैं और उन सभी का मुख कें द्र की ओर है। E, A का पड सी
नही ोंहै। G, A के दायें तीसरा है। B न त G और न ही A का पड सी है।
C न त G के ववपरीत बैठा है और न ही G और A का पड सी है। D, F 
का पड सी है और B के बायें तीसरा है।



Eight people A, B, C, D, E, F, G and H are sitting around a 
circular table and all of them are facing towards the 
centre. E is not the neighbour of A. G is third to the right 
of A. B is neither the neighbour of G nor A. C neither sits 
opposite to G nor is the neighbour of G and A. D is the 
neighbour of F and third to the left of B.
How many people sit between F and C when counted 
from right of F?
a) Three
b) One
c) Two
d) None
e) None of these



Eight people A, B, C, D, E, F, G and H are sitting around 
a circular table and all of them are facing towards the 
centre. E is not the neighbour of A. G is third to the 
right of A. B is neither the neighbour of G nor A. C 
neither sits opposite to G nor is the neighbour of G 
and A. D is the neighbour of F and third to the left of B.
Who sits second to the right of H?
a) E
b) D
c) G
d) F
e) None of these



Eight people A, B, C, D, E, F, G and H are sitting around 
a circular table and all of them are facing towards the 
centre. E is not the neighbour of A. G is third to the right 
of A. B is neither the neighbour of G nor A. C neither sits 
opposite to G nor is the neighbour of G and A. D is the 
neighbour of F and third to the left of B.
Who sits adjacent to F?
a) H
b) A
c) D
d) E
e) None of these



Eight people A, B, C, D, E, F, G and H are sitting 
around a circular table and all of them are facing 
towards the centre. E is not the neighbour of A. G is 
third to the right of A. B is neither the neighbour of G 
nor A. C neither sits opposite to G nor is the neighbour
of G and A. D is the neighbour of F and third to the left 
of B.
Who sits third to the right of G?
a) H
b) C
c) A
d) B
e) None of these



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits second 
to the left of Z’s husband. The person on  the  immediate  left  of  
T  is  not  a  female.  V’s daughter sits second to the right of X. X 
is the sister of  Y.  X  is  not  an  immediate  neighbour of  Z’s 
husband. Only one person sits between S and X. S is the father 
of Y. Z’s brother V sits second to the right of Z’s mother. Only 
one person sits between Z and Y.Y  is  the  mother  of  U.  Y  is  
not  an   immediate neighbour of W. Z sits to third to the left of 
S.
S, T, U, V, W, X, Y और Z कें द्र की ओर मुोंह करके एक वृत्त के चार ोंओर बैठे
हैं लेवकन जरूरी नही ोंवक इसी क्रम में ह ों। T, Z के पवत के बाएों से दूसरे स्थान पर
बैठा है। T के ठीक बायें बैठा व्यक्ति मवहला नही ोंहै। V की पुत्री, X के दायें से
दूसरे स्थान पर बैठी है। X, Y की बहन है। X, Z के पवत का वनकटतम पड सी
नही ोंहै। S और X के बीच केवल एक व्यक्ति बैठा है। S, Y का वपता है। Z का
भाई V, Z की मााँ के दायें से दूसरे स्थान पर बैठा है। Z और Y के बीच केवल एक
व्यक्ति बैठा है। Y, U की माता है। Y, W का वनकटतम पड सी नही ोंहै। Z, S के
बायें से तीसरे स्थान पर बैठा है।



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits 
second to the left of Z’s husband. The person on  the  
immediate  left  of  T  is  not  a  female.  V’s daughter sits 
second to the right of X. X is the sister of  Y.  X  is  not  an  
immediate  neighbour of  Z’s husband. Only one person sits 
between S and X. S is the father of Y. Z’s brother V sits 
second to the right of Z’s mother. Only one person sits 
between Z and Y.Y  is  the  mother  of  U.  Y  is  not  an   
immediate neighbour of W. Z sits to third to the left of S.
What is the position of S with respect to Z?
a) Immediate left
b) Third to the right
c) Third to the left
d) Second to the right
e) Fourth to the left



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits second 
to the left of Z’s husband. The person on  the  immediate  left  of  
T  is  not  a  female.  V’s daughter sits second to the right of X. X 
is the sister of  Y.  X  is  not  an  immediate  neighbour of  Z’s 
husband. Only one person sits between S and X. S is the father 
of Y. Z’s brother V sits second to the right of Z’s mother. Only 
one person sits between Z and Y.Y  is  the  mother  of  U.  Y  is  
not  an   immediate neighbour of W. Z sits to third to the left of 
S.
Who amongst the following is V’s daughter?
a) T
b) U
c) W
d) Y
e) Z



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits second to 
the left of Z’s husband. The person on  the  immediate  left  of  T  
is  not  a  female.  V’s daughter sits second to the right of X. X is 
the sister of  Y.  X  is  not  an  immediate  neighbour of  Z’s 
husband. Only one person sits between S and X. S is the father 
of Y. Z’s brother V sits second to the right of Z’s mother. Only one 
person sits between Z and Y.Y  is  the  mother  of  U.  Y  is  not  
an   immediate neighbour of W. Z sits to third to the left of S.
What  is  the position  of  S  with  respect  to  his grand child?
a) Immediate left
b) Third to the right
c) Third to the left
d) Second to the right
e) Fourth to the left



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits second 
to the left of Z’s husband. The person on  the  immediate  left  
of  T  is  not  a  female.  V’s daughter sits second to the right of 
X. X is the sister of  Y.  X  is  not  an  immediate  neighbour of  
Z’s husband. Only one person sits between S and X. S is the 
father of Y. Z’s brother V sits second to the right of Z’s mother. 
Only one person sits between Z and Y.Y  is  the  mother  of  U.  
Y  is  not  an   immediate neighbour of W. Z sits to third to the 
left of S.
How many people sit between Y and T (Whencounted
clockwise from Y)?
a) One 
b) Two 
c) Three 
d) Four 
e) More than four



S, T, U, V, W, X, Y and Z are sitting around a circle facing  the  
centre but  not  necessarily  in  the  same order. T sits second 
to the left of Z’s husband. The person on  the  immediate  left  
of  T  is  not  a  female.  V’s daughter sits second to the right of 
X. X is the sister of  Y.  X  is  not  an  immediate  neighbour of  
Z’s husband. Only one person sits between S and X. S is the 
father of Y. Z’s brother V sits second to the right of Z’s mother. 
Only one person sits between Z and Y.Y  is  the  mother  of  U.  
Y  is  not  an   immediate neighbour of W. Z sits to third to the 
left of S.
Which of the following is true with respect tothe given seating 
arrangement?
a) U is the cousin of W
b) Z and Z’s husband are immediate neighbours ofeach other
c) No female is an immediate neighbour of U
d) Z sits third to left of her daughter
e) T is the mother of Z



Eight people A, B, C, D, E, F, G and H are sitting in a 
straight-line facing North. H sits fourth to the right of C. 
D is neighbour of G who does not sit close to H. B sits at 
one end. A sits fifth to left of G. Neither G or A is sitting 
at the corner. F is not the neighbour of H.
आठ व्यक्ति A, B, C, D, E, F, G और H एक सीधी रेखा में उत्तर की
ओर मुख करके बैठे हैं। H, C के दायें से चौथे स्थान पर बैठा है। D, G 
का पड सी है ज H के वनकट नही ोंबैठा है। B एक छ र पर बैठा है। A, 
G के बायें से पाोंचवें स्थान पर बैठा है। न त G या A क ने पर बैठा है।
F, H का पड सी नही ोंहै।



Eight people A, B, C, D, E, F, G and H are sitting in a 
straight-line facing North. H sits fourth to the right of C. 
D is neighbour of G who does not sit close to H. B sits 
at one end. A sits fifth to left of G. Neither G or A is 
sitting at the corner. F is not the neighbour of H.
How many people sit between F and E?
a) Two
b) One
c) Three
d) No one
e) None of these



Eight people A, B, C, D, E, F, G and 
H are sitting in a straight-line 
facing North. H sits fourth to the 
right of C. D is neighbour of G who 
does not sit close to H. B sits at 
one end. A sits fifth to left of G. 
Neither G or A is sitting at the 
corner. F is not the neighbour of H.
Who sits third to the left of G?
a) D
b) E
c) F
d) H
e) None of these



Eight people A, B, C, D, E, F, G and 
H are sitting in a straight-line 
facing North. H sits fourth to the 
right of C. D is neighbour of G who 
does not sit close to H. B sits at 
one end. A sits fifth to left of G. 
Neither G or A is sitting at the 
corner. F is not the neighbour of H.
Who sits at the left end of the row?
a) C
b) F
c) E
d) H
e) None of these



Eight people A, B, C, D, E, F, G and 
H are sitting in a straight-line 
facing North. H sits fourth to the 
right of C. D is neighbour of G who 
does not sit close to H. B sits at 
one end. A sits fifth to left of G. 
Neither G or A is sitting at the 
corner. F is not the neighbour of H.
How many people sit to the left of 
H?
a) Four
b) Three
c) One
d) Two
e) None of these



Eight people A, B, C, D, E, F, G and 
H are sitting in a straight-line 
facing North. H sits fourth to the 
right of C. D is neighbour of G who 
does not sit close to H. B sits at 
one end. A sits fifth to left of G. 
Neither G or A is sitting at the 
corner. F is not the neighbour of H.
Who sits immediate right of G?
a) B
b) D
c) H
d) E
e) None of these



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a straight 
line such that all of the mare facing towards north, but not necessarily 
in the same order. X stands second from one of the extreme ends of 
the row. T stands second to the left of V, who stands adjacent to X. The 
number of persons to the left of T is the same as to the right of Y. More 
than two persons stand between Y and U (either on right or on left). S 
neither stands adjacent to U nor T. The number of persons between S 
and Z is one less than between W and S, who doesn’t stand adjacent to 
Y. 
आठ व्यक्ति अथाात। S, T, U, V, W, X, Y और Z एक सीधी रेखा पर इस प्रकार खडे हैं
वक सभी घ डी उत्तर की ओर उनु्मख हैं, लेवकन जरूरी नही ोंवक इसी क्रम में ह ों। X पोंक्ति
के वकसी एक अोंवतम छ र से दूसरे स्थान पर खडा है। T, V के बायें से दूसरे स्थान पर
खडा है, ज X के वनकट खडा है। T के बायी ोंओर व्यक्तिय ोंकी सोंख्या वही है ज Y के
दायी ोंओर है। Y और U के बीच द से अवधक व्यक्ति खडे हैं (या त दायें या बायें ). S न त 
U और न ही T के आस-पास खडा है। S और Z के बीच व्यक्तिय ोंकी सोंख्या W और S, 
ज Y के आस-पास नही ोंखडा है, के बीच एक व्यक्ति कम है।



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a 
straight line such that all of the mare facing towards north, but not 
necessarily in the same order. X stands second from one of the 
extreme ends of the row. T stands second to the left of V, who 
stands adjacent to X. The number of persons to the left of T is the 
same as to the right of Y. More than two persons stand between Y 
and U (either on right or on left). S neither stands adjacent to U 
nor T. The number of persons between S and Z is one less than 
between W and S, who doesn’t stand adjacent to Y. 
Who among the following person stands second to the left of T?

a) The one who stands to the immediately right of U
b) Z
c) V
d) No such person
e) None of these 



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a 
straight line such that all of the mare facing towards north, but 
not necessarily in the same order. X stands second from one 
of the extreme ends of the row. T stands second to the left of 
V, who stands adjacent to X. The number of persons to the left 
of T is the same as to the right of Y. More than two persons 
stand between Y and U (either on right or on left). S neither 
stands adjacent to U nor T. The number of persons between S 
and Z is one less than between W and S, who doesn’t stand 
adjacent to Y. 
How many persons stand between S and X?

a) One
b) Two
c) Three
d) More than three
e) None 



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a 
straight line such that all of the mare facing towards north, but 
not necessarily in the same order. X stands second from one of 
the extreme ends of the row. T stands second to the left of V, 
who stands adjacent to X. The number of persons to the left of 
T is the same as to the right of Y. More than two persons stand 
between Y and U (either on right or on left). S neither stands 
adjacent to U nor T. The number of persons between S and Z is 
one less than between W and S, who doesn’t stand adjacent to 
Y. 
What is the position of V with respect to Z?

a) Fifth to the left
b) Third to the right
c) Fourth to the left
d) Fourth to the right
e) None of these 



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a straight line 
such that all of the mare facing towards north, but not necessarily in the 
same order. X stands second from one of the extreme ends of the row. T 
stands second to the left of V, who stands adjacent to X. The number of 
persons to the left of T is the same as to the right of Y. More than two 
persons stand between Y and U (either on right or on left). S neither stands 
adjacent to U nor T. The number of persons between S and Z is one less 
than between W and S, who doesn’t stand adjacent to Y. 
The number of persons standing between U and V is the same as between 
____.

a) Y and U
b) T and X
c) X and W
d) S and Y
e) None of these 



Eight persons viz. S, T, U, V, W, X, Y and Z are standing on a straight line 
such that all of the mare facing towards north, but not necessarily in the 
same order. X stands second from one of the extreme ends of the row. T 
stands second to the left of V, who stands adjacent to X. The number of 
persons to the left of T is the same as to the right of Y. More than two 
persons stand between Y and U (either on right or on left). S neither stands 
adjacent to U nor T. The number of persons between S and Z is one less 
than between W and S, who doesn’t stand adjacent to Y. 
If all the persons are made to stand in the alphabetical order from left to 
right, then how many persons remain unchanged in their position?
a) One
b) Two
c) Three
d) More than three
e) None 




